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_ Determine the model in the s-domain and the expression for

the voltage across the inductor
Steady state for t<0
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All the analysis techniques are applicable in the s-domain

_ Draw the s-domain equivalent and find the voltage in both

s-domain and time domain
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_ Find v, (t) using node analysis, loop analysis, superposition,

source transformation, Thevenin's and Norton's theorem.
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Assume all initial conditions are zero
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Loop Analysis
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Source Superposition
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Source Transformation Combine the sources and use current

1 divider
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Using Thevenin’s Theorem

Reduce this part
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Using Norton’s Theorem

Reduce this part 3 1
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_ Determine the voltage v, (t). Assume all initial conditions to be zero

v1(2) - v2(2)

Selecting the analysis technique:

./ 1H .
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_ Compute V, (s) using Thevenin's theorem
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